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Petrov routine | oaded

= Manually solve S matrix for metaclass XllI

| aml 1 0 0 0 0
0 | aml 0 0 0 0
aeve| O 0 a1 0 o |
== 0 0 lan2 0 o |
0 0 0 0 | anB 1
0 0 0 0 0 | anB
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0 epsl 0 0 0 0
epsl 0 0 0 0 0
wel| © 0 0 eps2 0 0 |
0 0 eps2 O 0 0 '
0 0 0 0 0 eps3
0 0 0 0 eps3 0

n7= (* First find matrix that gives matrix in the SWN paper =x)

laml O 0 0 0
0O lam2 O 0 eps2
0 0 lanm8 O 0
psl O 0 lamt O

0 0 0 0 lank

0 0 eps3 O 0 lanB

Pet I'OV[

O O O oo
—

Out[7]//MatrixForm=

0 0 0 0 0 lam
0 eps2 O 0O lan2 O
0 0 0 lam3 O 0
0 0O lanB eps3 O 0
0 lan2 O 0 0 0
lanl O 0 0 0 epsl

ngl= S = Tabl e[ToExpression["s" <>ToString[i]<>ToString[j11, {i, 1, 6}, {j, 1, 6}1;

nol= ] 1 =Flatten[Transpose[S].B. S-W;

lanl O 0 0 0 0
0O lam2 O 0 eps2 O
. 0 0 lam3 O 0 0 .
12=Flatten[ epsi 0 o lam o 0 .s-s.v],
0 0 0 0 lanm2 O
0 0 eps3 O 0 lanB



2 | ClassXIll_Solve.nb

in11:= sub = {s1l1 -0, s13 -0, s14-50, s15-0, s16 -0, s31 -0, s33-50, s32-50, s34-0,
s35-50, s43 50, s45 -0, s44 50, s46 -0, s51 -0, s21 -0, s52 -0, s55 -0, s56 - 0,
s61 - 0, s63 50, s62-50, s25-50, s22 50, s26 -0, s53 50, s64 -0, s42 - 0,
s24 - 0, s66 - 0, s12 » 1, s41 » epsl, s54 » 1, s23 - eps2, s36 » 1, s65 - eps3};
Sinplify[Union[Join[j2, j1] /. sub]]
S//. sub // Matri xForm

ou12)= {0}

Out[13]//MatrixForm=
0 1 0 0 0 0
0O Oeps2 0O 0 O
0 0 0 0 0 1
epstl 0 0O O O O
0 0 0 1 0 0
0 O O O eps3 O
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